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Zusammenzählen von rationalen Zahlen mit Merkzahl und Komma
mit Meter: m und Zentimeter: cm
(100 cm = 1 m)

 1 cm 9 1 cm 7 0 cm 2 0 cm 2 8 cm 4 8 cm
+ 6 9 cm + 6 0 cm + 2 0 cm + 2 6 cm + 6 8 cm + 9 5 cm
+ X Merkzahl + X Merkzahl + X Merkzahl + X Merkzahl + X Merkzahl + X

cm m cm cm cm cm

6 1 cm 4 3 cm 6 1 cm 9 0 cm 6 8 cm 1 0 cm
+ 8 3 cm + 7 7 cm + 7 1 cm + 1 3 cm + 6 6 cm + 6 5 cm
+ X Merkzahl + X Merkzahl + X Merkzahl + X Merkzahl + X Merkzahl + X

cm cm cm m cm cm

3 9 cm 3 9 cm 8 6 cm 6 3 cm 8 1 cm 8 6 cm
+ 6 0 cm + 4 6 cm + 8 4 cm + 8 3 cm + 6 2 cm + 6 9 cm
+ X Merkzahl + X Merkzahl + X Merkzahl + X Merkzahl + X Merkzahl + X

m cm m m cm cm
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Zusammenzählen von rationalen Zahlen mit Merkzahl und Komma
mit Meter: m und Zentimeter: cm
(100 cm = 1 m)

 1 cm 9 1 cm 7 0 cm 2 0 cm 2 8 cm 4 8 cm
+ 6 9 cm + 6 0 cm + 2 0 cm + 2 6 cm + 6 8 cm + 9 5 cm
+ 1 X Merkzahl + 0 X Merkzahl + 0 X Merkzahl + 0 X Merkzahl + 1 X Merkzahl + 1 X

  7 0 cm 1 , 5 1 m   9 0 cm   4 6 cm   9 6 cm 1  4 3 cm

6 1 cm 4 3 cm 6 1 cm 9 0 cm 6 8 cm 1 0 cm
+ 8 3 cm + 7 7 cm + 7 1 cm + 1 3 cm + 6 6 cm + 6 5 cm
+ 0 X Merkzahl + 1 X Merkzahl + 0 X Merkzahl + 0 X Merkzahl + 1 X Merkzahl + 0 X

1  4 4 cm 1  2 0 cm 1  3 2 cm 1 , 0 3 m 1  3 4 cm   7 5 cm

3 9 cm 3 9 cm 8 6 cm 6 3 cm 8 1 cm 8 6 cm
+ 6 0 cm + 4 6 cm + 8 4 cm + 8 3 cm + 6 2 cm + 6 9 cm
+ 0 X Merkzahl + 1 X Merkzahl + 1 X Merkzahl + 0 X Merkzahl + 0 X Merkzahl + 1 X

0 , 9 9 m   8 5 cm 1 , 7 0 m 1 , 4 6 m 1  4 3 cm 1  5 5 cm
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